PRZEKROJE POPRZECZNE
SKALA 1:100

Puyion = 0,00 m*

km 1+636 Prago = 1,48 m?
Lbums = 4,30 m
Le =500m
Lo =240m
Puyion = 0,57 m?

km 1+666 Pray = 1,43 m?
Luums = 6,00 m
L =500m
Li =540m

P\\'ykopu = 1,50 m?

km 1+695 Puagm = 0,23 m?
Liwms = 7,00 m
L = 5,00 m
Lo =6,10m

Puyion = 0,00 m?

km 14746 P = 2,86 m?
Lbums = 5,40 m
L =500m
L. =370m

Payion = 0,59 m?

km 14795 ‘ Praspo = 0,24
PR 144,60 Lims =4,60 m
R e — L =50m
- L =340m

Pyt = 2,00 m2

km 14816 P = 0,26 m?
Liwns =6,10m
Ls = 5,00 m
L =420m

Pustons = 2,35 2

km 14874 P = 0,43 m?
Lbums = 3,40 m

L =500m
L. =360m

km 14895 Payion = 2,56 m?

Pago = 0,88 m?
Lums = 8,20 m
L =500m
Li =720m

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp



